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Exercise 2:

Exercise 3;

Exercise 4:

Exercise 5: In Sharkey’s Billiard Academy, Maurice is waitin

Example 6:

Exercise 7:

through crash tes

impact brings it to a stop in 8.00 x 102 s, with what aver.
tor l'.*(?

NALAPLMTY) A2 1ey Ui dunua

¥~ iceberg. a) What momentum would the 4.23
iceberg if it had hit the iceberg head—on with
the impact was a glancing blow.) b) If the captain of t
iceberg a kilometer ahead and had tried to slow dow:
been a futile effort?

Auto companies frequently test the safety of automobiles t

| ts to observe the integrity of the passeng
1000.-kg car is sent toward a cement wall with a speed of
a

w

Rhonda, who has a mass of 60.0 kg, is ridi
she must suddenly slam on the brakes t i ting
She is wearing her seatbelt, which brings her body toa
average force did the seatbelt exert on her? b) If she had r
seatbelt, and the windshield had stopped her head in 1.0 x
force would the windshield have exerted on her? o) Howm
the stopping force of the windshield than the seatbelt?

If 240 million people in the United States jumped up in th
pushing off the earth with an average force of 800. N eact
what would happen to the 5.98 x 10%¢ kg earth? Show a cal
your answer.

1O

notices that the cue ball is lined up for a perfect h:ad
Each of the balls has a mass of 0.0800 kg and the cue't
stop upon making contact with the 8 ball. Suppose
exerting a force of 180. N for 5.00 x 10-3 s, and it knocks head—on
Calculate the resulting velocity of the 8 ball.

ident i

Sometimes the curiosity factor at the scene of a car accident

actually produces secondary accidents as a result, x:‘}me jwz ;
what is going on. If an 800.-kg sports car slows to }3.3 m/stoc
accidént scene and the 1200.-kg pick-up truck beh{m‘i h‘.n} cont -
at 25.0 m/s, with what velocity will the two move if they lock bum;

rear—end collision?

Practice Exercises

of the arcades. At one booth he throws a

i i in order to hita 0.20-kg bottle
forward with a velocity of 21.0 m/sino )
S{tst(‘)u_\;i:aans}?elf, and when he makes contact the bottle goes flying forward at

; : fter it hits the bottle? b) If the
30.0 m/5-a) What s the velocty of e b8 S 000 e ) eloityof the ball

Jamal is at the state fair playing some

bottle were more massive, how woul





image2.jpeg
Exercise 8:  Lloyd rolls a 7.0-kg bo

wling ball down the alley for the league championship.

One pin is still standing, and Lloyd hits it head-on with a velocity of 9.0 m/s,
The 2.0-kg pin acquires a forward velocity of 14.0 m/s. What is the new

velocity of the bowling ball? -

Running at 2.0 m/s, Bruce, t.h
90.0-kg tackle, who is traveling
collision, Biff continues to trave
backwards?

Exercise 9:
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Exercise,10: ; ‘

A

e 45.0-kg quarterback, col

i 5y

lides with Biff; the
i irection. Upon
t7.0 m/s in the other du'ectlor}
1aforwa.rd at 1.0 m/s. How fast is Bruce knocked

stsy are participating.in’the:Rollta=Rams’ rskating:
are parti nthe:Roll~a= “rollerskating‘dance
Whl;g;?S.QT}gg;Ar}_thony'rollgrsk’ates backwards:at 3.0 mg/ 50—

ast.does the pair roll backwards together? by If Anthoniy is
‘ towa 1SSy wh_eni’sherjump‘s, ‘would: their,
larggr: orsmaller than your answer.to:part a? Why?.:.. -,

combined final velocity be

"Exercise 11: - Physiés téaéhér;, Mr. MtKee]'smg' 2 caliber rifle at'a 0.30-kg block of

wood. The rifle and the wpc;d afe mounted on carts that sit on-an air track, as
shown, so that friction is negligible. The 6:0-kg gun fires a gfoz,(i)—kg bullet with

a speed of 200. m/s. a) What is the final velocity of the bloc

;. bullet lodged inside? b) What is the recoil velocity of the gun?

f wood with they,..
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